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1. 5  (  50 GeV, then coast


+: all is there, just RF detuned


-: 5* wakefield jitter, bigger energy spread

      2.
Accel-decel: 5  (  150 GeV  (  50GeV


+: less jitter, same energy spread, o.k. if RF is on anyway 


-: additional RF power needed

3. Bypass Line:


+: no additional wakefield jitter, energy spread


-: cost of additional line

Conclusion (PT, K. Kubo): SC wakefields are low enough, so that a separate 

bypass line is not necessary from the viewpoint of the LET.

The following discussion at Snowmass brought up the point that after the undulator for the e+ production the energy spread would be too big, requiring a bypass line for the lower energy.
